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Corrigendum: BYJU’S IAS Videos

Modern History: At 29 min 50 sec the teacher mistakenly mentioned that Chattrapati Shivaji was
eventually captured and subsequently executed. It is wrong as Shivaji the Maharaj had died in 1680
due to natural reasons and he wasn't arrested again.

Modern History- Battle of Plassey (Part 2): At 24 min and 56 Sec it was by mistake mentioned that the
Battle of Plassey happened in 1957. However, the Battle of Plassey happened in 1757.

Modern History- Battle of Plassey and Buxar: The year of signing of the Treaty of Allahabad was
mentioned to be 1965 by mistake. However, the year of signing of the Treaty of Allahabad is 1765.

Modern History-Anglo - Mysore Wars: Timestamp -0:10:30

While referring to the map of 1767-69 and 1780-84, there is a statement by the faculty saying Hyderabad
was forced into a Subsidiary alliance. This further leads to events in the first and 2nd Anglo mysore
wars.

However, the subsidiary alliance was imposed for the first time on the State of Hyderabad in 1798. It
was further imposed in later years on Mysore (1799), Avadh (1801) the Marathas (1802 - Peshwa Baji
rao 2).

Modern History-Summary of Anglo Carnatic and Anglo -Mysore Wars: Timestamp: 0:10:48

The Faculty said that Hyderabad as a result of being forced into a Subsidiary alliance, became a
complete dependency of British and this was the second major consequence of Anglo carnatic wars.
However, Subsidiary Alliance was imposed in 1798, not immediately after Anglo carnatic wars (the
third Anglo-carnatic War ended in 1763).

Modern History- Administrative structure of Bengal: Timestamp: 00:09.22
It is mentioned by mistake that "Alivardi Khan came to power in 1729". However, the correct
information is that “ Alivardi Khan came to power in 1740”.

Modern History- Battle of Buxar and Plassey: Timestamp: 00:24.52
The year is mentioned as "1957 - 62" by mistake. However, it should be "1757 - 62".

Modern History- Government of India Act, 1935: Timestamp: 13:35-14:26

While explaining the introduction of bicameralism, it is stated that the Government of India Act, 1935
introduced bicameralism at the central level. However, The Government of India Act, 1935 created
bicameralism in the provincial legislatures of six provinces including Madras, Bengal, Bombay, Assam,
Bihar and United Provinces. It was the Government of India Act, 1919 that introduced bicameralism at
the Centre.

Geography- Lecture name: The Peninsular Region- South Central Highlands slide from 19:35 to 21:15
and North Central Highlands slide timestamp: 13:45 to 19:35.

Bundelkhand is mentioned mistakenly under South Central Highlands. However, it is considered a
part of the North Central Highlands.

Furthermore, Malwa plateau is mistakenly covered under North Central Highlands, but it is actually a
part of South Central Highlands.

Geography Lecture: Class 6 NCERT: Timestamp: 13:15

It is mistakenly mentioned that maximum time zones are in Russia, followed by Canada. However, the
correct information is that France has a maximum number of Time Zones (12 time zones), followed by
Russia (11 time zones) and USA (11 time zones).
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Science Lecture: Class 6 NCERT: Chapter 15 Air Around Us- 1st slide

It is mentioned mistakenly that the plants consume oxygen for respiration and exhale carbon-di-oxide.
However, the correct information is that the plants consume carbon-di-oxide for respiration and exhale
oxygen.

Indian Polity Lecture: Reorganisation of States: Timestamp: 9:02

It is mentioned mistakenly that in 1956, when the States Reorganisation Commission was set up, part
A, B, C, D division was done away with. However, the correct information is that in 1956, with the
enactment of the State Reorganisation Act, part A, B, C, D division was done away with.

Art and Culture Lecture: Theatres 2: Timestamp: 46:25 to End of video and From 13:10

It is mentioned by mistake that Daskathiya is a performance involving 10 stories. However, the correct
information is- Daskathia is a form of ballad singing prevalent in Odisha. It is a name derived from a
unique musical instrument called “Kathi” or “Ram Tali”, wooden clappers used during the
presentation. Also, the performance is a form of worship and offering on behalf of the Das - the devotee.
Hence, the name Daskathia.

Indian Polity Lecture: Houses of the Parliament: Timestamp: 46:25 to End of video

It is mentioned that 7 members from Delhi and 1 each from all the other UTs have seats in the Lok
Sabha. However, after the change in the status of Jammu & Kashmir and Ladakh, the correct
distribution is-

o UT of J&K-5 seats

e UT of Ladakh - 1 seat

e UT of Dadra and Nagar Haveli and Daman and Diu 2 seats

Indian Polity Lecture: Houses of the Parliament: Timestamp: From 13:10 to End of video
Distribution of seats in the Rajya Sabha is mentioned as 229 from states and 4 from UTs. However, after
the change in the status of Jammu & Kashmir and Ladakh, the correct information is-

J&K is set to lose its representation in the Rajya Sabha (4 seats), of which 2 already are vacant and 2
soon to be vacated as on 15th Feb 2021).

Geography Lecture: Class 7th NCERT: Timestamp: 1:20 Second

It is mentioned on the basis of old NCERT that the crust forms only 0.5 per cent of the volume of the
earth, 16 per cent consists of the mantle and 83 per cent makes the core. However, the correct
information as per the new NCERT is that the crust forms only 1 per cent of the volume of the earth, 84
per cent consists of the mantle and 15 per cent makes the core.

Geography Lecture: Class 7th NCERT: Timestamp: 9:45 Second

It is mentioned on the basis of old NCERT that the salinity of the Dead Sea is 45 parts per thousand
which is highest. However, the correct information as per the new NCERT is that the Salinity of Dead
Sea is 340 grams per litre of water.

Indian Polity Lecture: Lecture Name: Sessions of the Parliament, Timestamp: 0:30:12

The faculty has by mistake written on board that 'A bill originating in RS (Rajya Sabha) and pending is
LS (Lok Sabha)' instead of 'A bill originating in RS and pending is RS'. However, it was explained
correctly in the video.

Modern History Lecture- Economic Impact of British rule - 1: Timestamp: 0:00

It is mentioned by mistake that as per Charter Act of 1853, the covenanted civil services were thrown
open "only to British citizens" and not to Indians. However, the correct information is that as per
Charter Act of 1853, the covenanted civil services were thrown open for all - British and Indian citizens.

Economics Lecture- Industries 3: Timestamp: 00:09.22

It is mentioned by mistake that the number of MSME's in India as per 73rd NSSO survey data is 63
lakhs and employment generated is 1.1 crore. However, the correct information is that the number of
MSME's in India as per 73rd NSSO survey data is 6.3 Crores and employment generated is 11 crore.
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Polity Lecture- Citizenship Part 2: Timestamp: 0:18

It is mentioned by mistake that the Person of Indian Origin (PIO) scheme was launched in 2002. This is
true for the revised scheme, but the original scheme was first launched in 1999 and a revised one was
launched in 2002.

Geography Lecture-Indian Geography- Peninsular River System: Timestamp: 0:12:31

By mistake the faculty mentions the Ganjal river as a tributary of Tapi River. However, the correct
information is that the Ganjal rises in the Satpura range in the Betul district of Madhya Pradesh.The
Ganjal River flows for 89 km in a north-westerly direction to join the Narmada near Chhipaner village.
Hence, it is the tributary of Narmada river.

Polity Lecture- Civil Services: All India Services: Timestamp: 00:04:16 - 00:04:23

By Mistake, the faculty has mentioned that special majority with the total majority of the house along
with the majority of two-third members present and voting. However, the correct information is that
As per article 312, for creation of AIS a special majority will be required but only limited to two-third
of members of the Rajya Sabha. Absolute majority of the house is not required.

Polity Lecture - Union Legislature - Sessions of the parliament: Timestamp: 0:29:00

By Mistake, the faculty has mentioned “ A bill originating in RS and pending in LS”. However, the
correct statement is "A bill originating in RS and pending in RS”.

Geography Lecture-Geomorphology-Interior of the Earth - 3: Mantle: Timestamp: 00:01:12

By mistake it is mentioned that the lower mantle has NiFe. However, the correct information is that
the NiFe is found in the core. Lower mantle has Magnesium and Silicon along with a minor amount
of other elements.

PSIR Lecture - PSIR ------ Paper I -- Western Political thinkers ----- Marx - Introduction and
Philosophical Thoughts (01:01:23) ---- Introduction and Socialism (19:56 - In L] - Node name).

Timestamp: Slide Comes at 6:56 (Faculty talks about this at 7:56)

Incorrect Statement - In 1942 Marx met Friedrich Engels in Paris. This marked the beginning of their
long friendship and collaboration.

Correct Statement - It was in 1844 that Marx met up with Friedrich ENGELS and the alliance that was
to last for the rest of Marx's life was formed.

Source Statement: https:/ /scholar.harvard.edu/files/michaelrosen/files /karl_marx.pdf

Ancient History Lecture: Iranian-Greek Invasions: Timestamp: 0:11:58/0:49:27

Full Text: Introduced the 'satrap' as the unit of administration.
Incorrect information: Satrap is unit of administration
Correct information: Satrap is a governor of a province.
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Corrigendum: BYJU’S IAS Student Portal

Explainer Series: 2020

Theme: Environmental Pollution and Degradation
BYJU'’S Prelims Test Series Questions from Explainer’s Perspective

Question 3:
Option (b) should be 3 only, as statement 2 is incorrect. The Base year for the National Clean Air
Programme (NCAP) is 2017.

BYJU’S IAS All India Prelims Test Series: 2021
SEC-POL-02 Polity

Question 39: Explanation

It is mistakenly written that the removal of the Lok Sabha Speaker requires Absolute Majority.
However, the correct information is the removal of the Lok Sabha Speaker requires an Effective
majority.

Question 77: Explanation

Statement 1 is correct: The departmental standing committee consists of 31 members of which 21 are
from the Lok Sabha and 10 are from the Rajya Sabha. There are in total 24 departmental standing
committees which are concerned with different areas of governance and are ad hoc in nature. Here, ad
hoc in nature is mistakenly written, these committees are permanent in nature.

SEC-ECO-01- Economics
In the explanation, the mentioned formula of Net National Product (NNP) = Gross National Product -
depreciation + indirect taxes + subsidies.
However, the correct formula will be Net National Product at Factor Cost = GNP at FC - Subsidies -
Depreciation

SEC-POL-01 Polity

Question 91: Explanation

Statement 1 is incorrect: The procedure for the renaming of the state can be initiated either by the
Parliament with prior approval from the President. or by a resolution adopted by a State Assembly.
For example, the West Bengal assembly had passed a unanimous resolution to change the state’s name
to ‘Bangla’. Here mistakenly resolution is taken as equivalent to Bill.

The correct information will be that the bill for the renaming of the state can be initiated only by the
Parliament with prior approval from the President.

BYJU’S Exam Prep IAS All India Prelims Test Series: 2022

SEC-ECO-01

Question 2: Explanation

Statement 1 is correct: Liquidity adjustment facility of the RBI helps banks adjust their daily liquidity
mismatches. Repo operations absorb liquidity and reverse repo operations inject liquidity.Here
mistakenly repo operation and reverse repo operation is wrongly used

Correct information should be Reverse Repo operations/auction for liquidity absorption and Repo
operation/auction for Liquidity absorption.
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SEC-GEO-01

Question 43: Answer and Explanation

Answer should be (a): 1 only

Statement 2 is incorrect: Coriolis force acts perpendicular to the pressure gradient force. The pressure
gradient force is perpendicular to an isobar. This statement is wrong as although coriolis force acts
perpendicular to the pressure gradient force in general it is not true for Geostrophic winds. In case of
Geostrophic winds, coriolis force tries to balance pressure gradient force and is anti parallel to it.

SEC-HIS-02
Question 65: Answer and Explanation
Answer should be (d): 1-2-4-3

4- Maharaja of Manipur Signing merger Agreement: few days before Independence

A few days before Independence, the Maharaja of Manipur, Bodhachandra Singh, signed the
Instrument of Accession with the Indian government on the assurance that the internal autonomy of
Manipur would be maintained. Under the pressure of public opinion, the Maharaja held elections in
Manipur in June 1948 and the state became a constitutional monarchy. Thus Manipur was the first part
of India to hold an election based on universal adult franchise.

3-Hyderabad’s accession to India: September 1948, Hyderabad, the largest of the Princely States was
surrounded entirely by Indian territory. Its ruler carried the title, ‘Nizam’, and he was one of the world’s
richest men. The Nizam wanted an independent status for Hyderabad. He entered into what was called
the Standstill Agreement with India in November 1947 for a year while negotiations with the Indian
government were going on.

Numbering of the options was interchanged. This stands corrected as mentioned above.

GS-MOCK-01

Question 25: Question

Option (c) is incorrect: Mir Jafar, one of Siraj-ud-Daulah’s army commanders, killed Siraj and was
appointed nawab in his place. Here, mistakenly killed has been written instead of betrayed.

Hence, Answer can be both (c) and (d)

GS-MOCK-02

Question 38: Under the explanation, statement 3 was mistakenly given as correct. it should have been
incorrect.

Statement 3 is incorrect:The AG’s consent is mandatory when a private citizen wants to initiate a case
of contempt of court against a person. However, when the Supreme Court itself initiates a contempt
of court case, as it did in the case of Prashant Bhushan, the AG’s consent is not required.

Hence Answer can be 1 and 2 only.
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BYJU’S Exam Prep IAS All India Prelims Test Series: 2023

GS-Mock-02
Question 9: In explanation, statement 2 is mistakenly given as incorrect. It should be correct.

Statement 2 is correct: In the light of the Supreme Court judgement in KRISHNA KUMAR SINGH &
ANR versus STATE OF BIHAR & ORS, the court can examine whether the President or the Governor
was prompted by an “oblique motive” to bypass the Legislature and promulgate an ordinance. This
examination of oblique motive can be done even at the first instance of the promulgation of the
ordinance, leave alone repromulgation. The court can intervene in the limited circumstances where
Presidential action was either mala fide, or where no relevant material existed which could give rise to
the satisfaction of the President.

Hence, the answer should be (c) i.e. Both 1 and 2.
CSAT Mock-03

Question 34: The question has been incorrectly solved.
The correct solution is as follows:

Numbers that are divisible by 2 from 1 to 150 = 1502 = 75.

Numbers that are divisible by 3 from 1 to 150 = 1503 = 50

Numbers that are divisible by both 2 and 3, i.e., LCM(2,3) = 6, from 1 to 150 are 1506 = 25.
Thus, numbers from 1 to 150 that are divisible by 2 or 3 but not both are (75 -25) + (50 - 25) = 75.

Hence, the correct answer should be 75.
CSAT Mock-04

Question 34: The question has been incorrectly solved.
The correct solution is as follows:

As the number is between 999 and 4000, the thousands place cannot take 0 or 4.
The remaining places can be filled with all the digits.

In total, there are 3 X 5 X 5 x 5 = 375 ways.

And 4000 is also included, thus 375 + 1 = 376 integers.

Hence, option (D) is the correct answer.

6 | CORRIGENDUM m BYJU'S | A S



Value Addition Series Prelims 2022 Part 1
Polity and Governance

1.7 Sedition Laws in India

In the box ‘Balwant Singh vs State of Punjab (1995)’, the year was incorrectly mentioned as 1965. The
correct year of the case is 1995.

1.12 Constitutional Crisis in Uttarakhand

Under the subheading ‘What was the Constitutional Crisis?’, in the last point, it was incorrectly
mentioned as MLA. The correct sentence is as follows “Also, there is no Upper House (Legislative
Council) in the state from where he could get nominated as an MLC (Member of Legislative Council)
(as done recently by the Chief Minister of Maharashtra).”

Webinar Handouts
WEEKLY CURRENT AFFAIRS- Handout dated-05-January-2021
TOPIC- Inner-line Permit Is Centre’s ‘biggest Gift to Manipur’- Under sub-heading Applicable
areas- Point 2.
It was mistakenly mentioned that- “An ILP is required for certain parts of the Leh district in Jammu &
Kashmir like Nubra valley, Khardung La, Pangong Tso, Tso Moriri, etc. However, it should be-” An ILP

is required for certain parts of the Leh district in the Union Territory of Ladakh like Nubra valley,
Khardung La, Pangong Tso, Tso Moriri, etc.

WEEKLY CURRENT AFFAIRS- Handout dated-06-July-2021

Objective Questions

Question 2:

Explanation:

Statement 1 is incorrect: Pupil-Teacher Ratio (PTR) has improved at all levels of school education as
per the recent United District Information System for Education Plus (UDISE+) 2019-20 report. Here

the Statement 1 is correct which was mistakenly written as incorrect. Hence the answer should be ¢
i.e. Both 1 and 2 are correct.

Webinar on Mains-based Current Affairs Handout - Dated 5 August 2021
Topic - 5. Kerala MLAs” Freedom of Expression case
Question 1.

Answer: (a)
Here the answer was mistakenly written as (b).
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WEEKLY CURRENT AFFAIRS- Handout dated-18-January-2022

Objective Questions
Question 2:

Explanation:
Given in Handout:

Statement 1 is correct: Millimetre Wave band is a band of radio frequency spectrum in the range of 24
GHz and 100 GHz.

Correction:
Statement 1 is incorrect: Millimeter Waves: Millimetre waves (wavelength 10 mm to 1mm) are
electromagnetic waves which lie in the frequency 30 to 300 GHz.

Calculation:
Frequency= (Speed of Light)/(wavelength)

So for a wavelength of 10mm (10*10-3 meters) and speed of light of 3*108, we get,
Frequency= (3*108)/(10*10%) = 3 *10%0 = 30 GHz

In the same way, for a wavelength of 1 mm, we get,
Frequency= 300 GHz

Hence, scientifically speaking, the Millimetre Wave Band lies between 30 to 300 GHz.
So, Statement 1 is also incorrect and Answer is option (d) i.e., Neither 1 nor 2 are correct.

But, recently, we have come across news reports (in various reputed newspapers) which say that the
Millimetre Wave Band lies between 24 GHz to 100 GHz. This was also the reason for the controversy
which was discussed in the article. So, from a generalist point of view and for practical purposes
sometimes 24 GHz to 100 GHz range can also be considered.

Since, the statement has asked the scientific perspective so the answer can be taken as option (d) i.e.,
Neither 1 nor 2 are correct.

India Year Book: 2021

Page- 273 and 276-Chapter 30-States and Union Territories.
Mamata Banerjee is mentioned as Chief Minister of Ladakh and Andaman and Nicobar Island Union
Territories. However, these two UTs don’t have Chief Ministers, they only have administrators.

The Prelims Test Series: SEC-GEO-01 webinar dated 08-02-2021

Timestamp-1:16:00 hours

Faculty has taught in question 57 that the second statement of the question (Cold currents occur on
the west coast of the continents in higher latitudes in the Northern Hemisphere) is correct. However,
the correct information is that the aforementioned statement is incorrect. Cold currents are usually
found on the west coast of the continents in the low and middle latitudes in both the hemispheres. In
the higher latitudes, they occur on the east coast in the Northern Hemisphere.
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UPSC CSAT - Quantitative aptitude - Number system part 2.

Time stamp: 11.22 sec to 11: 59 secs

In question number 12, for the following question,  When a number is divided by 36, the remainder
is 19. What will be the remainder when the number is divided by 12?” The faculty has marked the
answer as option ‘3’. But the correct answer is ‘7’.

Explanation:

The number 36N + 19 could be 55, 91, 127, and so on, for N =1, 2, 3... Let us take N = 2, and assume the
number to be 91.

Since 72 is divisible by 36, and 36 is divisible by 12, hence 72 is also divisible by 12.
Now 91 / 36 --> remainder = 19, which is also greater than the 2nd divisor i.e., 12.
On dividing 91 by 12, the remainder will be 7, as the division will take place till 84.

Now, this is the same as dividing the first remainder 19 by the 2nd divisor 12, the 2nd remainder
obtained is still 7.

9 | CORRIGENDUM m BYJ U'S I A S



Corrigendum: Tablet Learn Journey

Subject

Lecture/Topics
name

Question number
and location

Question

Incorrect
information

Correct information

Polity

Directive Principles
of State Policy-3

DPSP 3 MINI
TEST 2

With reference to Triple
Talaq case, consider the
following statements:

1. Instant triple talaq
was declared
unconstitutional.

2. Fundamental rights
were provided
precedence over
personal laws.

Which of the statements

given above is/are

correct?

The answer is
given is (a)

Correct answer is (c)

Polity

DPSP-1

Mini Test 1 Q No.
3

It is possible to have
directives outside the
DPSP's.

T/F

Answer given
is false and it is
wrong

Answer should be
true.

Polity

Citizenship-1

Citizenship 1 Mini
Test1 Q3

Juristic personalities in
India can pay taxes but
could not acquire

property.

The
explanation
provided is

wrong

Juristic personalities
can pay taxes, and
also acquire

property.

Economics

Inflation

Inflation-CSE
Level Test

Which of the following
measures would result
in an increase in the
money supply in the
economy?

1. Purchase of
government
securities from the
public by the Central
Bank

2. Deposit of currency
in commercial banks
by the public

3. Borrowing by the
government from the
Central Bank

4. Sale of government
securities to the
public by the Central
Bank

Select the correct

answer using the codes

given below

Answer given
is (b) 2 and 4
only, which is
wrong

Correct answer
should be (c) 1 and 3
only

Polity

Indian Constitution

Article 19 Part 2-
Test 8, Question
no.1

With reference to the
Contempt of Court,
consider the following
statements:

Answer given
is (a) 1 only,
which is wrong

Correct answer
should be (d)
Neither 1 nor 2
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1. Wilful disobedience
of any judgment is
considered criminal
contempt.

2. Non-compliance with
any direction of the
court is not
considered contempt.

Which of the statements

given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Additional
information- Willful
disobedience of any
judgment is
considered as civil
contempt.

Citizenship-2 CSE Level test Q1 | The Person of Indian Answer given Answer should be
Origin (PIO) Scheme is wrong (b) MHA. PIO
was launched by: scheme is primarily
(a) Planning the responsibility of
Commission the Ministry of
Polity (b) Ministry of Home Home Affairs, which
Affairs is the nodal ministry
(c) Ministry of External for the same.
Affairs
(d) Ministry of Labour
and Employment
Answer given: (c)
Composition of Mini Test -1 Choose the correct Answer given Answer should be
atmosphere Question no. 2 statements regarding is wrong (b)
the atmosphere Mesosphere has
1. Aircraft move in the convection current,
troposphere. though it is not as
Geography 2. Convection takes strong as
place in Mesosphere. Troposphere.
(@) 1 only
(b) 2 only
(c) Both1and 2
(d) Neither 1 nor 2
Biogeochemical Mini Test 2 Consider the following | Answer is Answer should be
Cycles and 1. Respiration wrong (b).
Ecosystem Services 2. Photosynthesis
3. Combustion of coal
4. Decomposition of
dead organisms.
Which of the following
Environment add carbon dioxide to
and Ecology the atmosphere?

(@)1, 2and 3 only
(b) 1, 3 and 4 only
(c) 2,3 and 4 only
(d) 1,2 and 4 only
Answer given: (d)
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Art and culture
(History)

Harappan
Civilization

CSE Level Test-
Harappan
Civilization

Consider the following
statements about the
Priest king sculpture:

1. It is the first bronze
sculpture got from
the Harappa

2. It signified an
important stature of
the individual in the
society.

3. It signifies the socio-
cultural
developments of the
times.

Which of the above
statements is/are
correct?

First option 1 is
incorrectly
written

It is the first
bronze
sculpture got
from the
Harappa

Option 1 now be
replaced as

‘It is the first bronze
sculpture got from
the Mohenjodaro’

No change in
solution or correct
answer

Polity

Article 16-Part 2

Mini Test 1 Q No.
3

With reference to 103rd

Constitutional

Amendment Act, which

one of the following

statements is incorrect?

(a) Poor household
from any
community can
enjoy the
reservation
provided under the
act.

(b) Communities which
already enjoy
reservation benefits
cannot apply for
reservation under
the new provisions.

(c) Annual income of
the individual
applying for
reservation should
not be more than 8
lakh.

(d) Residential property
is also a criteria for
demarcating
beneficiaries under
EWS Quota.

(a) Poor
household
from any
community can
enjoy the
reservation
provided under
the act.

(a) Poor households
from any
unreserved category
community (i.e.
general) can enjoy
the reservation
provided under the
act.
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Polity

Article 16-Part 2

Mini Test 1 Q No.
3

With reference to 103rd
Constitutional
Amendment Act, which
one of the following
statements is incorrect?

(a) Poor household
from any community
can enjoy the
reservation provided
under the act.

(b) Communities which
already enjoy
reservation benefits
cannot apply for
reservation under the
new provisions.

(c) Annual income of
the individual applying
for reservation should
not be more than 8
lakh.

(d) Residential property
is also a criteria for
demarcating
beneficiaries under
EWS Quota.

(a) Poor
household from
any community
can enjoy the
reservation
provided under
the act.

(a) Poor households
from any unreserved
category community
(i.e. general) can
enjoy the reservation
provided under the
act.

Polity

Indian

ble

Constitution:Pream

CSE Level:Prelims
Practice Test Q1

Which one of the
following statements is
correct?

(a) Preamble cannot be
amended as it is part of
the Basic Structure of
the Constitution of
India

(b) Preamble, by itself ,
is enforceable in a
Court of Law.

(c) Preamble can be
used by courts for legal
interpretation.

(d) According to
Preamble the citizens of
India are the source of
the Indian Constitution

Option D gives
as:

(d) According
to Preamble the
citizens of India
are the source
of the Indian
Constitution

Option D should be:

(d) According to
Preamble, the
Parliament of India
is the source of the
Indian Constitution
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Indian

Article 15 is enforceable

Article 15 is
enforceable

Correction in
question statement:
Article 15(1) is
enforceable against
the State as well as
private individuals.

Polity Constitution: Article Mini Test 2 Q No. agalr'fst thg Stgte? as well | against the
2 as private individuals. | State as well as | True/False
14 & 15 .
True/False private
individuals. Answer: False
Article 15(2) is
enforceable against
the State as well as
private individuals.
Correct answer (a)
With reference to the Atghe
Indian citizenship > ent of
consider the follov,vin the Constitution, all
& individuals who had
statements: . s
their domicile in
1. All individuals Ind}a aI?d had. been
- . . ordinarily resident
ordinarily resident in . .
. . . in India for not less
India at a given time, than 5 vears
are the Citizens of India . Y
immediately
2. Dual citizenship is fgiﬁiﬁijﬁgﬂt
Indian prohibited under the were declared t(/) be
Polity Constitution: Mini test 1 Q2 Indian Constitution. Answer: d o\ .
I, . citizens of India.
Citizenship-1 Article 9 of Indian
Which of the statements -
iven above is/are Constitution
& prohibits dual
incorrect? . .
citizenship to
Indians voluntarily
(2) 1 only acquiring citizenship
of a foreign state. An
(b) 2 only Indian applying for
(c) Both 1 and 2 foreign C1t1zensh1p.
on any grounds will
(d) Neither 1 nor 2 l(?s:e the I.ndlan
citizenship by
default.
5. Match the 5. Match the
5. Match the personalities personalities with
personalities with their | with their their dances
dances dances
1. Rukmini devi 1. Rukmini devi
Arnundale - Kuchipudi | 1. Rukmini devi | Arnundale A.
2. Balasaraswati - Arnundale - Kuchipudi
Art and Kathakali Kuchipudi 2. Smt. Vijaya Prasad
Culture Dance 1 MlIni Test 2 Q4 3. Rita Ganguly - 2. Balasaraswati | B. Kathakali
Bharatanatyam - Kathakali 3. Rita Ganguly C
4. Kalyani Amma - 3. Rita Ganguly | Bharatanatyam
Mohinijattam - 4. Kalyani Amma D
(@) 1-c,2-d, 3-b, 4-a Bharatanatyam | Mohiniattam
(b) 1-b,2-a, 3-d, 4-c 4. Kalyani
(c) 1-c,2-a, 3-b, 4-d Amma - Answer: (c)
(d) 1-b,2-a, 3-d, 4-c Mohiniattam
Explanation:
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Answer; (c)

1. Rukmini devi

Arnundale -
Explanation: Bharatanatyam
2. Balasaraswati -
1. Rukmini devi | Bharatanatyam
Arnundale - 3. Rita Ganguly -
Bharatanatyam. | Kathak
4. Kalyani Amma -
2. Balasaraswati | Mohiniyattam
- Kuchipudi 5.Smt. Vijaya Prasad-
3. Rita Ganguly | Kuchipudi
- Mohiniattam
4. Kalyani
Amma -
Kathakali
Answer
Choices given
in the App are:
A.land2
B. 2 only Answer choices to be
C.1 only amended as:
D.12and 3
Which of the following A.land 2
statements are correct Answer: B B. 3 only
about the Kaladan C.1,2,and 3
project? Explanation: D. 1 only
1. It is a project between | The Kaladan
India and Bangladesh project is a Answer: B
2. Itis a transport project between
corridor comprising India and Explanation:
Internal North East water transport onl Bangladesh to The Kaladan project
Security Insurgency CSE Tevel test Q1 3. It will provide ! conr%ect N-E is a project betwgen
efficient trade and India with India and Myanmar
transport to India Indian to connect North-
A.land?2 mainland East India with
B. 3 only through West Indian mainland
C.1,2,and 3 Bengal. Itis a through West
D. 1 only multi-modal Bengal. It is a multi-
project modal project
Answer: B involving road, | involving road, rail,
rail, water water transport. It
transport. It will boost trade and
will boost trade | transport for India
and transport
for India
Geography Climatology: Prelims Practice [ Normally, the | Answer (a) Answer (c) 1 and 3
Climatic Test -Q6 temperature only
Classification of decreases with the
the World - 2 increase in height

from the Earth's
surface, because

1. the atmosphere can
be heated upwards
only from the Earth’s
surface
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2. there is more
moisture in the upper
atmosphere

3. the air is less dense

in the upper
atmosphere

Select the correct
answer using the

codes given below:

(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3

Answer: (a)
Terrestrial radiations
are the major source
for heating up of the
atmospheric layers.
As the altitude
increases, the heating
effect decreases.

Science and
Tech

Space Tech:
Universe:
Components

Mini Test 1, Q1

Consider the
following statements:
1. Dark matter
comprises most parts
of the universe.

2. Dark matter has
never been observed
directly.

3. Dark energy is one
of the factors causing
the expansion of the
universe"

Which of the
statements given
above are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only
(d)1,2and 3
Answer: (d)
Explanation: Dark
matter, though never
detected, is believed
to be occupying more
than 95% of the
universe.

Dark energy is
believed to be the
cause of the
expansion of the
universe.

Explanation:
Dark matter,
though never
detected, is
believed to be
occupying
more than
95% of the
universe.
Dark energy
is believed to
be the cause
of the
expansion of
the universe.

Dark matter and
dark energy
combined are 95%,
with dark energy
around 70% and
dark matter
around 25%.
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History:
Medieval
History

Tripartite
struggle for
Kannauj

Mini Test 1 Q5

Which of the
following statements
is/are incorrect
about the literature
during the
Rashtrakutas?

1. Kings were the
great patron of
Kannada and
Sanskrit literature.
2. Govind III wrote
Kavirajamarga and
Prasnottara
Ratnamalika in
Sanskrit and
Kannada languages
respectively.

Select the correct
answer using the
codes given below:
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 and 2

Answer: (a)
Rashtrakuta kings
were the great
patrons of Kannada
and Sanskrit
literature like
Amoghavarsha I
wrote the
Kavirajmarga, the
earliest Kannada
work on poetics and
the Prashnottara
Ratnamalika in
Sanskrit, which is
considered as a
writing of high merit
and was later
translated into the
Tibetan language.

Answer (a)

Answer (b)

Geography

Lecture:
Physiography:
The Peninsular
Region

Journey mode:
The Peninsular
region: Western
Ghats.
Timestamp:
00:02:56
Library Mode:
Physiography:
The Peninsular

Jog falls are
discussed as the
highest waterfalls in
India.

Jog falls are
the highest
waterfalls.

Kunchikal Falls in
Shimoga District
Karnataka are the
highest waterfall
in India with a
height of 1493 feet.
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Region at

00:28:00
Indian Polity | Union Territories | CSE Level Test- | With reference to Wrong Correct Answer: B
Union Delhi, consider the Answer Correct
Territories following statements: | Given: C Explanation:Delhi
indeed started off
) as a full fledged
1. It has never Explanation | .
acquired the status of | Given: ind d d
) } independence an
§tate sthee Delhi has only after the State
independence neve%* Reorganization
zfizlsrf)? ;he Commission Act
2. Currently it is a state It was /1956 it was
Union Territory with giv er.1 a stripped of its
its own state special status statehood and
legislature and high | ;, bro.ught down to
court. 1991,through [ijc?n
erritory(UT)
698 status.
Which of the constitutional
statements given amendment
above is/are correct? | actunder Later on in 1991 it
(@)1 only which it will | was given Special
(b)2 only has its Status through
(c) Both 1 and 2 own legislatu | 69th
(d)None of The re. Constitutional
Above Amendment Act
under which
Assembly
elections were
held in 1993.
Currently it has its
own elected
Assembly, Council
of Ministers, Chief
Minister and High
Court.
The region which z?e spelling
separates crust and Mohorovicic
mantle is called as . . .
discontinuity plscontm}uty Correct SPgllmg:
. (a) Mohorivic in the options. M'ohoro'mc%c
Geography Interior of the Mini Test (b) Gutenberg pue to DISCOI_ltmmty and
Earth - 3 incorrect same is the correct
A. The Mohorovicic spelling, the | answer.
Discontinuity, or ?nswer shows
"Moho," is the incorrect,
g even when

boundary

the correct
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between the crust | answer is
and the mantle typed.
3. The provisions of
the Gol Act, 1935
include
1. Dyarchy at the
Centre
2. Bicameralism at
the Centre 3. The provisions
3. Provincial of the Gol Act,
Autonomy 1935 introduced :
1. Dyarchy at the
Which of the Centre
Modern Government of . L . .
. . Mini Test Q3 | following is correct? 2. Bicameralism at
History India Act 1935
(a) 2 only the Centre
(b) 1 and 2 only 3. Provincial
(¢)land 3 Autonomy
(d)1,2and 3
Which of the
C. Bicameral Question following is
legislature at the statement correct?
provincial level in 6 | should have (a) 2 only
provinces was the "introduced" | (b) 1 and 2 only
provision of the Gol | instead of (c)land 3
act 1935. "include" (d)1,2and 3
Which of the Question Read question as
statements are needs follows:
correct regarding rephrasing.
Unicellular Q. Which of the
circulation? statements are
correct regarding
1. 0 to 30 degrees is circulation of air?
called Hadley cell.
2. After reaching 1. Tricellular
tropopause, the circulation of air: 0
winds diverge and to 30 degree is
reach poles where called Hadley cell.
Climatology: they usually descend. 2. Unicellular
Geography Atmospheric Mini Test circulation of air:
circulation (@) 1 only After reaching
(b) 2 only tropopause, the
(c) Both winds diverge and
(d) Neither reach poles where

Answer: (c). Both the
statements are true.

they usually
descend.

(a) 1 only
(b) 2 only
(c) Both
(d) Neither

Answer: (c). Both
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the statements are
true.

Art and Vijayanagara Mini Test 1 Q5 | Which of the Question Which of the
Culture Empire: following statements | needs following
Vijayanagara are matched correctly | rephrasing statements are
Architecture and matched correctly
1. Hazara Rama Explanation is
Temple - Hampi 1. Hazara Rama
2. Parvati Temple - amended. Temple - Hampi
Lepakshi 2. Parvati Temple -
3. Varadaraja Temple Lepakshi
- Kanchipuram 3. Varadaraja
4. Krishna Temple - Temple -
Chidambaram Kanchipuram
0 1and3 P e
(b)1,3 and 4
(¢)1,2and 3 (@)land 3
(d)1,2,3and 4 (b) 1,3 and 4
(c)1,2and 3
Solution (a) (d)1,2,3and 4
Parvati Temple -
Pune, Maharashtra (@)land 3
Parvati Temple -
Lepakshi Explanation:
Varadaraja Temple - Hazara Rama
Kanchipuram Temple -Hampi
Krishna temple - Varadaraja
Hampi Temple -
Kanchipuram
Veerabhadra
Temple - Lepakshi
Krishna temple -
Hampi
Parvati Temple
(Shivakamasundar
i shrine) -
Chidambaram
Polity Lecture Practice QNo. 3 1. The Constitution Answer and | Jammu and

Set 1

of India has followed
the US model of
citizenship.

2. The state of J&K
follows dual
citizenship unlike the
rest of the country.

Which of the above
statements are
incorrect?

Explanation
are incorrect.

Kashmir does'nt
have dual
citizenship, thus
the correct answer
is C.
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a) Only 1

b) Only 2

c) Both

d) None of the above

Which one of the
statements given
below is incorrect?
(a) If Economy cut
motion is passed, it
leads to censure of
the government.

(b) Policy cut leads to Option C should
change of the polic () Token cut be " (c) Token cut
. Enactment of CSE Level Test: 5 POIY reduces the
Polity Union Budget Q2 of the government demand by Rs reduces the
but does not bring 1 demand by
its stability into Rs 100".
question.
(c) Token cut reduces
the demand by Rs 1
(d) Cut motions can
only be passed
during the passage
of the budget
The naming of the
tropical cyclones over
north Indian Ocean
commenced from
September 2004, with
names provided by
eight Members. Since
Disaster Cyclones: Naming Lecture WMO Cyclone Naming The nu.mber of - |then, f e countries
Management System timestamp: 16:34 | System 8 Countries .countrles has have joined the Panel.
increased now. |Namely, Bangladesh,
India, Maldives,
Myanmar, Oman,
Pakistan, Sri Lanka,
Thailand, Iran, Qatar,
Saudi Arabia, United
Arab Emirates and
Yemen.
With reference to Explanation: |Though Article 29(2)
cultural and No citizen says "No citizen shal
educational shall be be denied admission
fundamental rights denied into any educational
mentioned in the admission institution
Constitution, into any maintained by the
Polity Article 29, 30 Mini Test1 Q1 | Consider the educational  |State or receiving aid
following statements: | institution out of State funds on
maintained grounds only of

1. The state can
discriminate on the
basis of sex while

providing admission

by the State or
receiving aid
out of the
State funds on

religion, race, caste,
language or any of
them." but Article 15
(3) enables
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to educational
institutions
maintained by them.

2. Right to agitate for
the protection of an
endangered culture is
also a fundamental
right.

Which of the
statements given
above is/are correct?

(@) 1 only

(b) 2 only

(c) Both1and 2
(d) Neither 1 nor 2

C)No citizen shall be
denied admission
into any educational
institution
maintained by the
State or receiving aid
out of the State funds
on grounds only of
religion, race, caste,
sex, language or any
of them.

grounds only
of religion,
race,

caste, sex,
language or
any of them.

government for
making any special
provision for women
and children.

Apart from Article
29 which provides
fundamental rights
to the citizens to
protect their culture,
the Supreme Court
in Jagdev Singh
Sidhanti Case (1964)
declared that the
right to agitate for
the protection of
culture is part of our
fundamental right
under Article 19(1)
and Article 29(1) of
the constitution.

Geography

Climatology:
Types of Jet
Streams

Mini Test 1 Q4

Consider the
following statements
regarding jetstreams:
1. It prevents weather
conditions from two
regions to mix
together.

2. Heat waves
experienced by
Europe in 2020 were
accelerated by
jetstreams.

Which among the
statement/s given

Answer: (d)
Neither 1 nor
2

Answer: (c) Both 1
and 2
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above is/are correct?
(@) 1 Only

(b) 2 Only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: (d). Neither
1 nor 2

Geography Climatology: Mini Test 1 Q1 Which of the options need |Which of the
Types of Rainfall following to be updated. |following
types/types of type/types of
precipitation occurs precipitation can
when the occur when the
temperature of the temperature of the
ground is below ground is below
freezing point? freezing point?
(a) Hailstorm (a) Sleet
(b) Snowfall (b) Snowfall
(c) Frost (c) Frost
(d) All of the above (d) All of the above
Answer: (d) All of the Answer: (d) All of
above the above
Geomorpholo | Interior of the Mini Test Q4 Which of these Option 3 Which of these
gy Earth-3 statements are correct | needs to be statements are
regarding the interior | changed. correct regarding the
of the earth? interior of the earth?
1. Continental crust- 1. Continental crust-
SIAL SIAL
2. Oceanic crust- 2. Oceanic crust-
SIMA SIMA
3. NIFE in lower 3. NIFE in Core
mantle
(@)1&2 (@)1&2
(b) 2 only (b) 2 only
(©)1&3 (©)1&3
(d)1,2&3 d)1,2&3
Answer: (d) Answer: (d)
Explanation: Explanation:
SIAL-Silicon and SIAL-Silicon and
Aluminium Aluminium
SIMA-Silicon and SIMA-Silicon and
Magnesium Magnesium
NIFE-Nickel and Iron NIFE-Nickel and
Iron
Polity Fundamental Question 5 of With reference to Answer has With reference to
Rights CSE Level Test- | Article 16 (1) of the been wrongly | Article 16 (1) of the
Fundamental Indian Constitution, marked as C, | Indian
Rights 1 consider the whereas itis | Constitution,

following statements:

A.

consider the
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1. It only concerns
with the
employment or
appointment to
any office under
the state.

2. Place of Birth
cannot be the
criteria for
discrimination
under the Article

Which of the

statements given

above is/are correct?

(@) 1only

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2

Answer: (c)

Both are correct
statements.

Explanation
too has been
wrongly
stated as both
statement
being correct.

following
statements:

1. Itonly
concerns with
the
employment or
appointment to
any office
under the state.

2. Place of Birth
cannot be the
criteria for
discrimination
under the
Article

Which of the

statements given

above is/are

correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor
2

Answer: (a)

Statement 1 is correc
whereas Statement 2
is incorrect. It is
Article 16(2) that
prohibits
discrimination on
the grounds of place
of birth amongst
others.

Geography Types of

Industries

Question1 of
Mini Test -
Types of
Industries

Depending on the
type of

used,
industries can be
classified into
primary, secondary
and tertiary
industries.

Answer: Raw
material / Raw
materials

“Raw
materials”
was treated as
the wrong
answer.

Now it has been
corrected, both
raw materials and
raw material are
provided as
correct answers
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Prelims 2021 7 Q7. With reference to | Chenab Sutlej

PYQs: the Indus river

Geography system, of the
following four rivers,
three Of them pour

into one of them
which joins the Indus
direct. Among the
following, which one
is such river that
joins the Indus
direct?

(a) Chenab

(b) Jhelum

(c) Ravi

(d) Sutlej

Prelims 2021 6 Q6. With reference to | Option (d) Option (b)
PYQs: casual workers
Economy employed in India,
consider the
following statements:
1. Allcasual
workers are
entitled for
Employees
Provident Fund
coverage.

2. All casual
workers are
entitled for
regular working
hours and
overtime
payment.

3. The government
can by a
notification
specify that an
establishment or
industry shall
pay wages only
through its bank
account.

Which of the above

statements are

correct?

(@) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3
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Prelims 2021 13 Why is there a Option (d) Option (b)

PYQs: concern about copper

Environment smelting plants?

& Ecology 1. They may release
lethal quantities
of carbon

monoxide into
environment.

2. The copper slag
can cause the
leaching of some
heavy metals into
environment.

3. They may release
sulphur dioxide
as a pollutant.

Select the correct

answer using the

code given below.

(a) 1and 2 only

(b) 2 and 3 only

() 1and 3 only

(d) 1,2and 3

Prelims 2021 16 In the nature, which | Option (d) Option (c)
PYQs: of the following
Environment is/are most likely to
& Ecology be found surviving
on a surface without
soil?

1. Fern

2. Lichen

3. Moss

4. Mushroom
Select the correct
answer using the
code given below.
(a) 1and 4 only

(b) 2 only

(c) 2and 3

(d) 1,3and 4

Prelims 2021 11 Which one of the Option (b) Option (a)
PYQs: Polity following best
defines the term
‘State’?

(@) A community of
persons
permanently
occupying a
definite territory
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independent of
external control
and possessing
an organized
government.

(b) A politically
organized people
of a definite
territory and
possessing an
authority to
govern them,
maintain law and
order, protect
their natural
rights and
safeguard their
means of
sustenance.

() A number of
persons who
have been living
in a definite
territory for a
very long time
with their own
culture, tradition
and government.

(d) A society
permanently
living in a
definite territory
with a central
authority, an
executive
responsible to the
central authority

and an

independent

judiciary.
Prelims 2021 12 With reference to Option (c) Option (d)
PYQs: Polity India, consider the

following statements:

1. Any retired
judge of the
Supreme Court
of India can be
called back to sit
and actas a
Supreme Court
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judge by the
Chief Justice of
India with prior
permission of the
President of
India.

A High Court in
India has the
power to review
its own
judgement as the
Supreme Court
does.

Which of the
statements given
above is/are correct?
(a) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

Prelims
PYQs: Polity

2021

16

With reference to the
Union Government,
consider the

following statements:

1.

N. Gopalaswamy
Iyengar
Committee
suggested that a
minister and a
secretary be
designated solely
for pursuing the
subject of
administrative
reform and
promoting it.

In 1970, the
Department of
Personnel was
constituted on
the
recommendation
of the
Administrative
Reforms
Commission,
1966, and this
was placed under
the Prime
Minister's charge.

Option (b)

Dropped by UPSC

28 | CORRIGENDUM

EBYJU'S |AS




Which of the
statements given
above is/are correct?
(@) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

GS-Economy

National Income
Accounting

CSE Level Test -
National Income
Accounting-
First Question

Consider the
following with

respect to GDP

1. GDP accounts for
all goods and
services
produced by

Indian Nationals
only

2. GDPdatais
provided on a
quarterly basis

3. CSOis the
Organization
responsible for
calculating the
GDP

Which of the above

statements are

correct?

(@) 1only

(b) 1and 2

(c) 2and 3

(d) 1,2and 3

Consider the
following

with respect
to GDP

1. GDP

accounts
for all
goods and
services
produced
by Indian
Nationals
only

2. GDP data is

provided
ona
quarterly
basis

3. CSO is the

Organizatio
n
responsible
for
calculating
the GDP

Which of the

above

statements are

correct?

(a) 1 only

(b) 1 and 2

(c) 2and 3

(d) 1,2and 3

Explanation:
Gross
Domestic
Product
(GDP) is the
monetary
value of all
finished
goods and
services made
within a

Consider the
following with
respect to GDP
1. GDP accounts
for all goods
and services
produced by
Indian
Nationals only
2. GDP datais
provided on a
quarterly basis
3. NSOis the
Organization
responsible for
calculating the
GDP
Which of the
above statements
are correct?
(a) 1 only
(b) 1 and 2
(c) 2and 3
(d)1,2and 3

Explanation:
Gross Domestic
Product (GDP) is
the monetary
value of all
finished goods
and services made
within a country
during a specific
period.

GDP accounts for
all goods and
services produced
within the
physical boundary
of India, It can
include goods
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country
during a
specific
period.

GDP accounts
for all goods
and services
produced
within the
physical
boundary of
India, It can
include goods
produced by
both Indian
and Foreign
entities.

GNP accounts
for goods and
services
produced by
Indian
Nationals
only GDP
data is
provided on a
quarterly
basis.

The central
statistical
office, or CSO,
is responsible
for compiling
data for
calculating
GDP. It
aggregates
the GDP data
by
coordinating
with several
federal and
state-run
agencies.

produced by both
Indian and
Foreign entities.

GNP accounts for
goods and services
produced by
Indian Nationals
only GDP data is
provided on a
quarterly basis.

National
Statistical Office
(Formed after
merging NSSO
and Central
Statistical
Organization,
CSO) is
responsible for
compiling data for
calculating GDP. It
aggregates the
GDP data by
coordinating with
several federal and
state-run agencies.

Science and
Technology

Solar System:
Inner Planets

09:22-09:25

Planet Venus does
not have a tilt

Incorrect fact

It is tilted by 3
degrees on its axis.
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Geography Climatology - CSE Level Test - | Which among the Wrong Correct Answer: D
Koeppen's Koeppen's following are the Answer
Classification Classification properties exhibited | Given: A
by the Am Climatic Correct
region of Koeppen? Explanation: Am
1. The rainfall type of climatic
distribution is ) regions are found
concentrated E)fplanatlon in tropical regions
within 3-4 months | Given: mostly between 10
of the year. These climatic |~ 12 degrees North
2. Most rainfall . and South of
occur during reglons ?re equator. Thus,
summer seasons pre§ent indthe they are not found
3. Tropical Indian . in all continents.
deciduous forests | Subcontinent,
are the typical Northern
vegetation found | Australia,
in these regions. Northeastern
4. These regions are | part of South
seen on all America
continents in both
hemispheres
Select the correct
statements
(a) 1,2 and 4 only
(b) 2,3 and 4 only
(c) 1,3 and 4 only
(d) 1,2 and 3 only
"In this instance we
could not play off the .
Mohammfda}r]ls against gorrect option (a)
the Hindus." evolt of 1857
. Wrong Hindu and Muslim
foatidhene ot opion ()| any i e
CSE Level Test this remagrk of . revolt of 1857,
. . Khilafat Aitchison relate? Khilafat and created a.strong .
History Modern History Movement L ; (a) Revolt of 1857 Non- front against British
Question no 2 (b) Champaran Cooperation government. As
Satyagraha (1917) Movement such the statement
() Khilafatand Non- | (1919-22) refers to the revolt of
57 Pl
g/é())vement (1919- took place after his

(d) August Movement
of 1942

death in 1896
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Indian Polity

Centre State
Relations

Question no. 2 in
CSE Level Prelims
Practice Test

With reference to the
directives given by the
centre to the states,
under Article 257,
consider the following
statements:

1. The nature of these
directives are coercive
in nature.

2. Constitutional
machinery is
considered to be broken
down if directives are
not followed.

3. President's rule
under Article 356 can
be imposed if directives
are not followed by the
state.

Which of the above
is/are incorrect.

(a) 1 and 3 only
(b)1,2and 3

(c) 2 and 3 only

(d) 1 and 2 only

Wrong
Question:
Which of the
above is/are
incorrect.

Correct Question:
Which of the above
is/are correct?

Indian
Geography

Geomorphology

CSE Level Test-
Glacial Erosion
and Landforms

Which among the
following
statement/s is/are
correct about
Continental ice
sheets?

1. Formed in Non -
Mountainous area.
2. Ice is mainly
thinnest at the
margins and thickest
at the interior.
Select the correct
answer using the
code given below.
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Wrong
Answer
Given: A

Correct Answer: C

Environment
and Ecology

Levels of
Organisation

Mini Test 1 -
Question 4

Which of the
following
descriptions about
organisation of an
ecosystem is correct?
(a) Communities
make up species,
which make up
populations.
(b) Populations
make up species,

Wrong
Answer

Correct Answer -
D
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which make up
communities.

(c) Species make up
communities,
which make up
populations.

(d) Species make up
populations,
which make up
communities.

Geography

International
Date Line and
Great Circles

Mini Test -
Question 1

180° longitude is the
International Date
line.

Wrong
Answer

Correct Answer -
True
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Corrigendum: BYJU’S IAS Booklets

Geography Booklet

Page 44:

Mechanism of Solar Radiation:

The heat produced inside the sun is by the medium of nuclear fusion whereby hydrogen atoms are
converted into helium which occurs due to the immense heat and pressure that the core of the sun is
exposed to. This fission reaction produces immense amounts of heat which is then transferred to the
outer layers by the method of convection and conduction. The rate of production of heat inside the sun
is constant and is hence referred to as the solar constant. Hence as can be seen that in order to receive
insolation from the surface of the sun to the earth all the three methods of propagation of heat i.e
conduction, convection and radiation come into play.

Geography Booklet

Page 70- Heading- Cold desert climate or Mid-latitude deserts Point number 2.
By mistake it has been written that "formed either due to confidentiality effect”. However, it should be
formed either due to the continentality effect”.

Indian Polity Booklet

Laxmikant 6th Edition: Chapter 7- Article 22 topic

By mistake it is mentioned that "Right to be produced before a magistrate within 24 hours including
the journey time." However, it should be "Right to be produced before a magistrate within 24 hours
excluding the journey time."

Geography Booklet

Page 164- Heading- Origin of the Himalayas Point number 1.

By mistake it has been written that Indian Plate (continental), being denser, subducted under the
Oceanic (Tethys Sea). However, the correct information is that it was the oceanic crust of the Indian
plate that subducted and not the continental part.

Geography Booklet

Page 131- Heading- Rivers of Europe, Point number 4.
By mistake it has been written that the Danube, Dnieper and Don flows into the Caspian Sea. However,
the correct information is that the Danube, Dnieper and Don flows into the Black Sea.

Indian Economy Booklet

UPSC Previous Year Question (2018)

By mistake the first line of the question is written as- “Increase in absolute and per capita GNP do not
connote a higher level of economic development, if”. However, the correct line is “Increase in absolute
and per capita Real GNP do not connote a higher level of economic development, if”.
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Geography Booklet

Page 12- Solar System: Sub-topic- Venus-

By mistake it is written that “it is considered and set in the east”. However, the correct line should be
the Sun is considered to set in the east on Venus.

Also, by mistake it is written that Venus takes 243 Earth to complete its rotation. However, the correct
line should be Venus takes 243 Earth days to complete its rotation.

Page 12- Solar System: Sub-topic- Earth
By mistake it is written that the Atmosphere consists of 77 % Nitrogen. However, the correct information
is that the Atmosphere consists of 78% Nitrogen.

Page 13- Solar System: Sub-topic- Uranus

By mistake it is written that Uranus takes 17 hours to complete its rotation, which is the shortest time
taken by any of the planets. However, it is not true. Hence, the line “which is the shortest time taken
by any of the planets” stands deleted.

Chapter 3- Climatology- Previous year Questions
By mistake the answer of question 9 is given as (c). However, the correct answer is (b).

General Studies Preliminary Paper I and II
Chapter/Topic: GS Paper 1 2011 (Geography) Page: A-12- Question 22-
By mistake the answer of question 22 is given as (c). However, the correct answer is (b).

General Studies Preliminary Paper I and II
Chapter/Topic: GS Paper 1 2011 (Geography) Page: A-14- Question 31-
By mistake the answer of question 31 is given as (b). However, the correct answer is (c).

General Studies Preliminary Paper I and II
Chapter/Topic: GS Paper 1 2012 (Geography) Question 32-
By mistake the answer of question 32 is given as (d). However, the correct answer is (c).

Geography Booklet
Page 59-
Structure of Atmosphere:
The temperature of the exosphere is mentioned as 5500 degree Celsius, but the correct temperature is
around 1500 degree Celsius.

Science and Technology Booklet

Page 176-

Topic- 5.6.4 Monazite: Last paragraph ro be read as following

Monazite is a mineral mainly containing rare earths and thorium-a prescribed substance to be handled
by the Department of Atomic Energy (DAE). Accordingly, Indian Rare Earths Ltd. (IREL) which is
under the administrative control of the Dept.of Atomic Energy (DAE) and wholly owned subsidiary of
GOVERNMENT, uses monazite mainly for production of rare earth compounds, and thorium, as
needed in the Department of Atomic Energy.

Page 177-

Topic-5.7 RENEWABLE ENERGY (NON-CONVENTIONAL ENERGY SOURCES)- First Paragraph,
First statement to be read as-

India is blessed with plenty of responsible energy sources like solar wind hydro and Biomass. The
importance of renewable energy was realised in the country as early as 1970.
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Page 179-

Topic- 5.7 RENEWABLE ENERGY (NON-CONVENTIONAL ENERGY SOURCES)- Sixth
Paragraph, Last statement to be read as-

Economic growth, increasing prosperity, a growing rate of urbanization and rising per capita energy
consumption has increased the energy demand of the country.

DISASTER MANAGEMENT - INTERNAL SECURITY Booklet

Page 92 -

Topic 2. A Historical Perspective: The last line in the fourth paragraph is incomplete. Find the
complete sentence below:

In the later years of the Raj the internal security apparatus was frequently used.

Geography Booklet

Page 309 - First bullet point - Temperature

By mistake it has been written that:

e Temperature: Wheat requires cool growing season (100-150 C) and warm conditions (200-250 C) at
the time of ripening and harvesting.

However, the correct information is that:
¢ Temperature: Wheat requires cool growing season (10 - 15 °C) and warm conditions (20 - 25 °C) at
the time of ripening and harvesting.

New Vishal Publication

Topic Wise Solved Papers book. Page: A- 7
4th Question Part: Medieval India

Section: History

Incorrect Answer: D. Correct answer is C.

Explanation:

Option (a) is not correct as India throughout its ancient and Medieval history did not have a superior
ship building technology. The Cholas and Marathas are exceptions but subcontinent not known for
Navy

Option (b) not correct as patronage to brahmins and monks has no linkage with trading practices

(c) is correct option as the wind system in the Indian Ocean facilitated trade relations as ships invariably
were pushed towards the subcontinent and our traders used this to maintain a good relation with the
Indian ocean world.

Geography Booklet

Page 215- Topic: Aravalli Range

It is written that Chambal river originates in the Aravali range, however, this stands replaced with the
fact that Chambal river originates from janapav hills of Mhow District, which is part of MP Vindhya
ranges in Madhya Pradesh.

Page 221- Sub-topic: 2.3.6.1 Andaman and Nicobar islands

First statement stands corrected as-

These islands extend from 6%45" N to 132 45" N and from 92010 E to 94° 15’E for a distance of about 590
km with a maximum width of about 58 km.
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General Studies preliminary paper 1 and 2 (2011-2022)

Page - A-37

For Q4 on page A-36, its answer is given as ‘c’, whereas in UPSC official answer, the correct option is
‘d.
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